ViewSonic 48 .

VX2759-4K-PR

Display
Quick Start Guide

HRIELZEEEA

HREAFIFERE

= Al 710|1=
IA4YIRE—FHAF
Guide de démarrage rapide
Schnellstarthandbuch
Guia de inicio rapido
Guida introduttiva

Guia de Inicio Rapido
Startvejledning
hurtigstartveiledning
Przewodnik Szybki start
KOPOTKUM NOCIOHMK KOpUcTyBa4ia
Hizh Baglangi¢ Kilavuzu

Snabbstartsguide

Vodi¢ za brzo pokretanje
KpaTkoe PyKOBOACTBO

no Havany pa6oTbl

Ghid de pornire rapida

Els6 lépések

03nyog ypriyopng ekkiviong
Pika-aloitusopas

Uvodni pfiruéka

Vodi¢ za brzi pocetak
PbkoBoACTBO 3a 6bp3 cTapT
Aan de slag

Panduan Mulai Cepat

) £a3l) Gala

@®  The terms HDMI, HDMI High-Definition Multimedia Interface,
HDMI trade dress and the HDMI Logos are trademarks or

IGHOEFINITION MULTEDIA mTerpce TeBistered trademarks of HOMI Licensing Administrator, Inc.

YAV

http://www.viewsonicglobal.com/q/VX2759-4K-PRO

ENGLISH

- Depending on the country or region, the Limited Warranty may or may not be included in the packaging. If the Limited Warranty is not included in the packaging, it
can be found on the ViewSonic website.

- When connecting the display to an external device (PC, etc.), please use the included video cable and accessories and follow the instructions in this manual.

- The standard of the included power accessory and video cable may differ depending on your country, region, o environment. For details on the included items,
please refer to our product page and user guide.

- This monitor can be used with a 75 mm x 75 mm VESA compatible, UL certified wall mount (M4 x 8 mm screws x 4).
Please follow the wall mount installation guide in the user manual when installing.

- Please contact our Customer Support Center for inquiries about the product.

- ViewSonic shall not be liable for technical or edit ions contained herein.

T

- ﬂﬁ*miﬂsﬁlﬂﬁﬁﬁlﬂﬁ?{liiml:ﬁﬁﬁa MR EEPFSHRBER, #1517 Viewsonic msﬁm

- BRERHEEIINNRE (BME)

- lﬁmw%ﬁl’ﬂ#ﬂmﬁﬁwm‘&‘ﬁtlﬂﬂﬁﬁ& R, BXAIFETEFFR, E*ﬁm%unmﬁﬂi"s B B8 & RE R B 5
- ERRBAEBULFAS 75 mm X 75 mm VESA REEIEFRER (M4 x SmmiBLL 4 §l). REFHERERRABRZERET.
- MBEREG, WERARNNER RO,

- Viewsonic 373 8 =33

FhEhx

- i} o RE > 7 4Bk ERTLRE] o

- o r!ﬁgﬂ"ﬁﬁ! (ﬁmlﬂﬁ) B > Iﬁ i Eo

- mmm RER (AR AR AT AEEER © @ aRIR HSpE

- ZABAREFAEECULAAZ) 75 mm X 75 mm VESA ﬁgﬁﬂﬁ;ﬂﬁm (M4 x 8mm 8844 4 F) §§§B§‘*Eﬁﬁ)§!ﬂﬂﬂ§ﬁl2§i§§t
- HERERN > EREES B o

- Viewsonic HZs3 He

B

=o0f

- B E X\ﬁoil EE}EI Mgt 2F0| gxtofl ZEEHL ZEEIX| of 2 5 leLich Mgt 2F0| 4Rt ZE (0 2| &8 B Viewsonic WAOIE 0| M
Eolg 5

- ClAE E-{‘\-OIEEE\H Fxl(pc S)oll AHE Z BHE HICI2 AHol2 1 HHMEIE A8 3HT o] HBAM| XIFE M2 A AL,

- EZEE T AMMEl D BIcI2 Holg B i‘?h xlof & 2ol w2t CHE + YaLich 8 E B0l et KA LIS E K& HOIXIo A8 HYME
AZHAAR.

- 0| 2LIE{E uLoil CHEH LIJEl 75 mm x 75 mm VESA £ 2 02 E(470 M4 x8mm LIANS &7 AL & £ Q& LICH Ax| Al AFS MMl &
Ol2E Mx| 710[= 8 WEAAI2.

- MEolcHE 2ol A E 12 x| ME{of oI5t A2,

wSonic2 017(0f| ZEE 7|25 = HEY QF L M=Fof chs MUX|x| ek&Lict,

- EZ8— &M‘Nﬂéiﬁ(PC%W)#&Hd& FEHADBIG T — 7 IV DFH S BRICE LTy — 7IVEIARY H L, EOHFIHEREL TILEL,

- ERTNTVRERT — Big —7)Uid, BELVOEPHEICE > TREHREDHBEN DY ET.

- FEHBRO WLL?L"{B\ é*ﬂséuu IRA—H—HA FET T,

- REZZ—TE UL%Eﬁﬁkiﬂﬂbtwmmx75mmlf)VESAﬁ!G'7>r—/b?’7/l~ (M4 X8mmx74$) EFATHTENTE
RET I, 1— ﬁ*ﬂ'{b‘é?t*l\/77/l~ EHA F% BRREND

- Qunlu%ﬁ’g’é}ﬁﬁu“bmd;3&737\&'7 YR— by 2 —FTTEEEE

FRANGAIS

La garantie limitée peut étre incluse ou non dans la boite selon le pays ou la région dachat. Si la garantie limitée n'est pas incluse dans la boite, vous pouvez la
trouver sur le site Web de ViewSonic.
Lorsque vous connectez I'écran a un appareil externe (PC, etc.), veuillez utiliser le cable vidéo et les accessoires inclus et suivre les instructions de ce manuel.
Le cable d'alimentation et les cables vidéo inclus peuvent varier selon votre pays, votre région ou 'environnement. Pour plus de détails sur les éléments inclus,
veuillez vous reporter a notre page du produit et 3 notre guide d'utilisation.

Ce moniteur peut étre utilisé avec le support mural compatible VESA de 75 mm x 75 mm listé UL (4 vis M4 x 8 mm). Veuillez suivre le guide d'installation du
support mural dans le manuel de Futilisateur lors de I'installation.

Veuillez contacter notre centre d'assistance clientéle pour toute question sur le produit.

- ViewSonic ne sera pas responsable des erreurs ou des omissions techniques ou rédactionnelles dans ce document.

DEUTSBH

enthalten ist, hingt vom jeweiligen Land und der Region ab. Wenn die eingeschrnkte Garantie nicht im
Llelemmhng enthalten ist, finden Sie diese auf der ViewSonic-Website.
itte verwenden Sie zur Verbindung des Anzeigegerites mit einem externen Gerét (PC usw.) das mitgelieferte Videokabel und Zubehsr und befolgen Sie die

Anweisungen in dieser Anleitung.
Der Standard d s und Vi kann je nach Land, Region oder Umgebung variieren. Einzelheiten zum Lieferumfang
h tte unserer ite und der i
- Dieser Monitor kann mit der fiir UL gelisteten VES (75%x75mm )

Befolgen Sie die Anleitung zur Installation der Wandhalterung in der Bedienungsanleitung.
- Wenden Sie sich bei Anfragen zum Produkt an unseren Kundendienst.
Viewsonic haftet nicht fiir hierin enthaltene technische oder redaktionelle Fehler oder Auslassungen.

erwendet werden (vier Schrauben M4 x 8 mm).

EsPAﬂDL
Segun el pais o la regi6n, la garantia limitada puede o no estar incluida en el paquete. Si la garantia limitada no est incluida en el paquete, puede encontrarla en el
sitio web de ViewSonic.
Cuando conecte la pantalla a un dispositivo externo (P, etc.), utilice el cable de video y los accesorios incluidos y siga las instrucciones de este manual.
- Elestandar del accesorio de alimentacion y el cable de video incluidos pueden diferir en funcién su pais, region o entorno, Para obtener detalles sobre los elementos
incluidos, consulte nuestra pagina de productos y la guia del usuario.
- Este monitor se puede usar con el soporte para pared compatible con VESA de 75 mm x 75 mm aprobado por UL (4 tornillos M4 x 8 mm).
Siga la guia de instalacién del soporte para pared en el manual de usuario cuando realice la instalacin.
- Péngase en contacto con nuestro Centro d atencion a liente para onsultas sobre =| produ:m
sumird ninguna por los errores I id: d e

4 )

ViewSonic 485

O VX2759-4K-PRO
i ‘ M Display

ITALIANO

- Aseconda del Paese o della regione, la Garanzia limitata pud essere inclusa o meno nella confezione. Se la Garanzia limitata non & inclusa nella confezione, pud
essere trovata sul sito Web ViewSonic.

- Quandosi collegail display a un dispositivo esterno (PC, ecc.), utilizzare il cavo video e gli accessori inclusi e osservare le istruzioni incluse nel presente manuale.

- Lo standard dell'accessorio di alimentazione e del cavo video inclusi pub variare a seconda del Paese, della regione o dell'ambiente. Per i dettagli sugli elementi

inclusi, fare riferimento alla nostra pagina del prodotto e alla guida per I'utente.

Questo monitor pud essere utilizzato con il supporto a parete compatibile VESA da 75 mm x 75 mm elencato per UL (4 viti M4 x 8 mm). Per Finstallazione,

osservare la guida all'installazione del supporto a parete nel manuale dell'utente.

Contattare il nostro Centro assistenza clienti per domande sul prodotto.

ViewSonic non sara responsabile di errori tecnici o editoriali o omissioni contenuti nel presente documento.

PORTUGUES

- Dependendo do pais ou regido, a Garantia Limitada pode ou ndo ser incluida na embalagem. Se a Garantia Limitada ndo estiver incluida na embalagem, pode ser
encontrada no website da ViewSor

- Quando ligar o monitor a um dispositivo externo (PC, etc.), utilize o cabo de video e incluidos e siga as instrugd neste manual.

0s cabos de alimentagdo e de video fornecidos na embalagem podem diferir dependendo do pas, regido ou ambiente. Para obter detalhes sobre os artigos incluidos,

consulte a nossa pagina de produtos e o nosso guia do utilizador.

Este monitor pode ser utilizado com um suporte de montagem na parede compativel com VESA 75 x 75 mm certificado pela UL (4 parafusos M4 x 8 mm).

Quando executar a instalagao, siga o guia de instalag3o do suporte de montagem na parede no manual do utilizador.

- AViewSonic nio se responsabiliza por erros técnicos ou editoriais ou omissdes no contetido do presente documento.

SVENSKA
Beroende pa land eller region medféljer den begransade garantin. Om den begransade garantin inte medfdljer finns den pa ViewSonic-webbplatsen.
N du ansluter skirmen till en extern enhet (dator etc.) ska du anvéinda den medfdljande videokabeln och tillbehdren och falja instruktionerna i den hir manualen.
Standarden for det och kan skilja sig pa land, region eller milj. For detaljer om de medféljande tillbehsren
hanvisar vi till var produktsida och manual.
Denna bildskirm kan anvindas med de« 75 mm x 75 mm VESA-kompatibla véiggfistet som i listat fér UL (4 M4 x 8 mm-skruvar).

Folj i nér du installerar.

- Kontakta vart kundsunpumenter for hazor om produkten.
- Viewsonic ansvarar inte for tekniska eller redaktionella fe eller utelamnanden som finns har.

oMt
- Ra]onenu takuu voi maasi tai alueesi mukaan kuulua tai olla kuulamatta pakemm Jos rajoitettu takuu ef kuulu r»aketmn, se loytyy ViewSonic- verkkoslvusmlla
ayton ulknlseen laitteeseen (PC jne.), ké uuluv; ja imi oh
wan andard vo ol erfainen maan, alueen tai ympéristsn mukaan. Katso toimtukseen kuuluvien nimikkeiden

ia
tiedot mateslvultamme ja kiyttsoppaasta.
monitoria voi kiyttaa 75 x 75 mm:n UL
Suorita asennus
- Jossinulla on kysytta ota yhteytt:
- Viewsonic ei ole vastuussa téhén sisaltyvista teknisista tai toimituksellisista virheistd tai puutteista.

- T sted VESA-yhteensopivan sei

mukaisesti.

innikkeen kanssa (4 M4 x 8 mm ruuveilla).

POLSKI

- Wazaleinosci od kraju lub regionu ograniczona gwarancja mote, ale nie musi ¢sigw iu. Jesli ograniczona gwarancja nie znajduje
opakowaniu, to moma ja lnalexc na stronie internetowej ViewSonic.

- Podezas do urzadzenia (komputer PC, itp.) nalezy uzyé kabel wideo oraz akcesoria i ¢ zgodnie 2
instrukcjami w tym podreczniku.

- Standard dostarczonych akeesoriow zasilania  kabla wideo mote sig réni¢ w zaleinosci od kraju, regionu lub rodowisk Stowe informacje o

elementach, mozna sprawdzié na naszej stronie produktu i w instrukej
- Ten monitor moze byé uzywany z uchwytem Sciennym 75 mm x 75 mm zgodnym ze standardem VESA, wymi
Podczas instalacji nalezy postepowac zgodnie z instrukcja instalacji uchwytu sciennego w instrukcji obstugi.
Pytania dotyczace produktu nalezy kierowa¢ do naszego Centrum obstugi kiienta.

nym dla UL (4 éruby M4 x 8 mm).

- ViewSonic nie ponosi odpowiedzialnosci za biedy techniczne lub redakeyjne albo za pominigcia w tym dokumencie.
MAGYAR
- Orszégtdl vagy térségtdl iigeden a korlitozottjotallést a 13 ja vagy nem Ha a Korlatozott j6tallas nem szerepel a
akkor az a Viewso taldlhaté.
- Haa kijelz6t killsG eszkbzhdz (PC stb.) ja, hasznlja a é és kbvesse az ebben a kézikbnyvben talilhaté utasitdsokat.

- Amellékelt hilézati tartozék és vldenkabel szabuénya orszdgtol, térségtsl vagy
kérjiik, olvassa el a terméf

- Ezamonitor az UL-listan szerepl§ 75 mm 75 mrm-es VESA kompatibilis fali xanoval hasznalhaté (4 db M4 x 8 mm-es csavar).
A telepités soran kbvesse a fali tarté telepitési itmutatdjat a felhasznaléi kex ben.

- Atermékkel kapcsolatos kérdéseivel forduljon iigyfélszolgalati kézpontunl

- AViewsonic nem vallal felel6sséget az itt taldlhatd technikai vagy sxerkesnésl hibakert vagy kinagyasokért.

81 fiiggben eltérhet. A mellékelt

PYCCKMIA

- Hanuuve OrpaHUeHHOM rapaHTMN B YNaKOBKe 3ABICHT OT CTPaHbl AW PeruoHa. ECTM OTpaHW4eHHaR rapaHTMA OTCYTCTBYT B YNaKOBKe, C Hell MOXHO 03HaKOMMTLCA
Ha se6-caiire ViewSonic.

- Npu noakAioueHUn AUcnaen K BHewHemy ycTpoiictey (MK uT.4.) KoTOpble 8
KomnAeKTe, U coBAIOAATL 5

- Cranpgapr sxoaAumx e

MOMET OT/MUATECA B 3ABUCHMOCTH OT CTPAHbI, PErMOHa U YCAOBMIA

ceepens 0 YNaKOBKN CM. Ha CTPAHMUE USAE/MA M B PYKOBOACTBE NONb30BATENA.

- 370t MOHUTOp MOMeT < 75x75 mm, VESA U uL
(4 Bunra M4 X 8 Mm). C i n0 ycraHoske . no

- Nosonpocam, < uspenvem, 8 Lientp KNWeHTOoB.

- ViewSonic we Hecer 3 wan OWMGKY WM YYLLIEHWA B TEKCTE HACTOALIErO AOKYMEHTA.

CESKY
- Omezend zaruka mife nebo nemusf byt soutasti baleni v zavislosti na zemi nebo regionu. Pokud omezens zéruka neni soutasti baleni, lze ji najit na webu spoleénosti
ViewSoni

Pii piipojovani displeje k externimu zafizeni (pocitat atd.) poutijte piilozeny kabel videa a piislusenstvi a postupujte podie pokynii v tomto navodu.
Standard piilozeného napajeciho pislusenstvi a kabelu videa se miize it v zavislosti na vasi zemi, regionu nebo prostredi. Podrobnosti o prilozenych polozkich
najdete na nasi strénce produktu a v ufivatelské prirutce.
- Tento monitor Ize pouzit s nasténnym drzikem 75 mm x 75 mm VESA s certifikaci UL (4 Srouby M4 x 8 mm). P instalaci postupujte podle pokynii k
instalaci ndsténného dridku v ufivatelské pfiruéce.
- Sveskerymi dotazy ohledné tohoto produktu se obracejte na nase centrum podpory zakaznikii.
- Spolecnost ViewSonic neodpovida za technické nebo redakéni chyby nebo nedostatky v tomto dokumentu.

TURKGE
- Ulke veya bblgeye bagl olarak Sinirl Garanti paket igerigine dahil olabilir ya da olmayabil
ulasabilirsiniz.
- Ekrani harici bir cihaza (Bilgisayar vs.) baglarken, litfen Girin ile birlikte verilen video kablosunu ve aksesuarlar kullanin, bu kilavuzdaki talimatlari takip edin.
irlikte verilen giig aksesuari ve video kablosunun standard ilkeye, bolgeye ya da gevreye gére farklilik gosterel ikte verilen riinler hakkinda ayriniar ici
tfen iriin sayfamiza ve kullanim kilavuzuna bakin.
- Bumonitér, UL igin listelenen 75 mm x 75 mm VESA uyumlu duvar montaji (4 M4 x 8 mm vida) ile kullanilabilir. Kurulum sirasinda litfen kullanma
lalavuzundaki duvara montaj kurulum kilavuzunu takip edin.
- Liitfen iriin ile ilgili sorulariniz igin Milsteri Destek Merkezi'miz ile iletisime gegin.
- Viewsonic burada olusan teknik ya da editoryal hata veya noksanlardan sorumlu tutulamaz.

Sinir Garanti paket igerigine dahil deil ise, ona ViewSonic websitesinden

NEDERLANDS
- Afhankelijk van het land of de regio, kan de beperkte garantie al dan niet meegeleverd bij de verpakking. Als de beperkte garantie et bij de verpakking is
meegeleverd, kunt u deze vinden op de website van ViewSon

(SERVICE) Homi 1 HOm 2 DP1 DP2

69

—
H

——
~

100-240 Vac
50/60 Hz

Obratite se nasem centru za korisniéku podr3ku za pitanja o proizvodu.
Kompanija ViewSonic nije odgovorna za ovde sadriane tehnicke ili uredivatke greske

propuste.

NORSI

Avhengig av land eller region kan den begrensede garantien falge med i pakken. His den begrensede garantien ikke er i pakken, finner du den p3 ViewSoni
nettsted.
Nar du kobler skjermen til en ekstern enhet (PC 0sv.), bar du bruke den medfolgende videokabelen o8¢ tilbeharet og folge instruksjonene i denne handboken.
Stromtilbehgret og videokabelen som falger med, kan variere avhengig av land, region eller milig. Du finner mer informasjon om det som falger med p- var
produktside og i brukerveiledningen.
Denne skjermen kan brukes med det UL-noterte 75 mm x 75 mm VESA-kompatible veggfestet (4 M4 x 8 mm skruer).

for installasjon av veggf nar du installerer.
Ta kantakt med kundestottasentoret for sparemsl om produktet.
Viewsonic skal ikke holdes ansvarlig for tekniske eller redaksjonelle feil eller utelatelser heri.

- Wanneer u het display aansluit op een extern apparaat (pc, enz.), gebruikt u de meegeleverde videokabel en accessoires en volgt u de instructies in deze

De standaard van het meegeleverde voedingsaccessoire en de videokabel kunnen verschillen, afhankelijk van uw land, regio of omgeving. Voor details over de

meegeleverde items, raadpleegt u onze productpagina en gebruikershandleiding.

- Deze monitor kan worden gebruikt met de 75 mm x 75 mm VESA-compatibele wandmontage voor UL (4 M4 x 8 mm schroeven). Volg de installatierichtlijnen
voor de wandmontage in de gebruiksaanwijzing bij het installeren.

- Neem contact met ons Kiantondersteuningscentrum voor vragen over het product.

- ViewSonic is niet v fouten of in dit document.
EAAHNIKA
Avmvu e T X@Pat i TV mepLox, N Meplopiopévn eyyonon priope va d L & om i, EQvn évn eyyonon
om opeite va TV Bp v tonoeaia web T ViewSonic.
- Kaxé wn oovBeon tg 0Béuns oe ekunspuch suorcui «Am), w0 8pevo kahipbio Biveeo kat ta efapripara ka akohouBroTe g

o8nyisg Mov MapéxovraL oTo NP6 EVXEIpiBIo.
- Tonpéwno tou Kat to kahwiou i éxera va Suadépe avdhoya ie T yipa, TV MepLoxi 1 to neptBiMov oas.
na é e ta oroweia nou avatpétee o oeAiba MPOIdVIWY Kat oTov 08nYS XPRONG.
- Autin 0Bévn uropei vu)wnmlwnomesl 1 oupBac i VESA st B 75 mm x 75 mm iow éxst kavaypn@et v UL (4 Bises M4 x8mm).
Koedt s YXetpidlo xpriong.

- e 1o Kévipo

- HViewSonic ev eivat unetBuvn yia fi (txvu(& L] & opdhpara i {perc oto napov eyxerpidio.

ROMA A
n functie de tara sau regiune, garantia limitats poate fi inclusi sau nu in ambalaj. Dacé garantia limitata nu este inclusa in ambalaj, o puteti gasi pe site-ul web
ViewSonic.

- Cand conectati afisajul la un dispozitiv extern (PC, etc.), folositi cluse si urmati instructiunile din acest manual.

- Standardul accesoriului de alimentare inclus si al cablului video poate diferi in functie de tar3, regiune sau mediu. Pentru detalii despre articolele incluse, consultati
pagina produsului si ghidul de utilizare.

- Acest monitor poate fi folosit impreuns cu suportul de montare pe perete compatibil VESA de 75 mm x 75 mm certificat UL (4 suruburi M4 x 8 mm).

Atunci cand realizati instalarea, urmati ghidul de instalare a suportului de perete din manualul de utilizare.

Contactati Centrul nostru de asistent3 pentru chenu dac aveti intrebiri despre produs.

- ViewSonic nu va fi rispunzitoare pentru erorile sau omisiunile tehnice sau editoriale din acest document.

BBIIFAPCKU
- B3aBUCHMOCT OT ALPIKABATA UM PETHOHA, KOMM/IEKTLT MOXKE A3 BKAIOYBA WM A HE BKK0YBA OFPaHUEHa rapaHuA. AKO OTpaHMIEHa rapaHUMA He e BKAIOYEHa B
KOMNAIEKTa, MOXKETe Aa A OTKPUeTe Ha Y6 caiiTa Ha ViewSonic.

- Koraro cabp3sare AMCIER KbM BLHLIHO YCTPORCTBO wap.), mons, i Kaben 3a " w cnepsaiire
MHETPYKUAUTE B TOB2 PHKOBOACTEO.
- Crawgapret Ha akcecoap 32 MO 42 Ce Pa3AuvasaT B 3aBUCUMOCT o7 Balata ALPKAsa, PrHoH WK cpeaa. 3a noseve

otHocHO |, BUKTE HALWATa CTPAHULA C NPOAYKTH U PLKOBOACTBOTO 32 NOTPEGUTENA.
- To3M MOHUTOp MOXe 43 Ce U3NON383 CbC CHBMECTUMA CTOIKA 32 CTeHa 75 mm x 75 MMVESA 8 cnuchKa Ha UL (4 Ma x 8mm swukta). Mons, cneasaiite
PKOBOACTBOTO 33 MHCTANMPaHe Ha CTOKATa 3 CTeHa NPW MHCTanaUMA.
- Mons, CBbpIETe Ce C HalMA LEHTBP 32 06CYIKBaHE Ha KNUEHTH 32 BBAPOCH OTHOCHO NPOAYKTA.
- Viewsonic He Hocu 3 win TPELIKI WNK NPONYCKM, CHABRMALLM CE TYK.

DANSK
Den begransede garanti falger muli
findes pa ViewSonics hjemmside.

- Nar skaermen sluttes til en ekstern enhed (en computer eller lignende), skal du bruge det medfolgende videokabel o tilbehar. Folg instruktionerne i denne
brugsve|ledn|ng

ikke med i emballagen, afhaengigt af land eller region. Hvis den begraensede garanti ikke fglger med i emballagen, kan den

- 4 det ideokabel kan variere afhzngigt af land, omrade og milig. Du kan finde yderligere oplysninger om de medfglgende
produkter pé vores produktside o | brugsvejledningen.

- Denne skierm kan bruges med et 75 mm x 75 mm i der er UL-godkendt (4 stk. M4 x 8 mm skruer).
Folg nar monteres.

- Kontakt venligst vores \indeserviacenter, i au har spargsmal om produktet.
- ViewSonic er ikke ansvarlig for tekniske eller redaktionelle fejl eller mangler i heri

HRVATSKI
- Ovisno u zemlj
web-strani
Kada spajate zaslon na vanjski uredaj (raunalo itd.), koristite prilozeni video kabel i pribor te slijedite upute u ovom priruéniku.
Standard prilozenog pribora za napajanje i video kabela moze se razlikovati ovisno o zemlji, regiji ili okruzenju. Pojedinosti o sadriaju isporuke potraite na nasoj
stranici proizvoda il u korisnitkom vodicu.
- Ovaj se monitor moze koristiti sa 75 mm x 75 mm VESA kompatibilnim zidnim nosagem predvidenim za UL (4 vijka M4 x 8 mm).

Pri ugradnj te vodic za ugradniu zidnog nosaa u priruéniku.
- Obratite se nasem Centru za pomo¢ korisnicima ako imate pitanja o proizvodu.
- Viewsonic ne snosi odgovornost za tehnitke ili uredivatke pogreske ili propuste u ovom tekstu.

Ograniteno jamstvo mozda nece biti priloZeno u pakiranju. Ako Ograniteno jamstvo nije prilozeno u pal

moZete ga naci na ViewSonic

SRPSKI
U zavisnosti od zemlje i regiona, ogranicena garancija mofe li ne mora biti ukljucena u pakovanie. Ako ogranicena garancija nije ukljuéena u pakovanje, moe se naci
na veb-lokaci 5

- Kada povezujete monitor sa spoljnim uredajem (PC racunar i sliéno), koristite ukljugeni video kabl i dodatke i pratite uputstva u ovom priruéniku.

- standard ukljuéenih dodataka za napajanje i video kabla se moZe razlikovati u zavisnosti od vase zemlje, regiona ili okruzenja. Za detalje o ukljuzenim stavkama
pogledajte nasu stranicu proizvoda i uputstvo za upotrebu.

j monitor se moie koristiti sa 75 mm x 75 mm VESA kompatibilnim zidnim nosatem navedenim za UL (4 vijka M4 x 8 mm).

prilikom montaZe pratite uputstvo za montau zidnog nosaga u uputstvu za upotrebu.

3aneMHO B4 KPaTHM 4M PerioHy OBMEIeH rapaHTIA MOJKE BXOAUTH a6O HE BXOAMTM A0 KOMNAGKTY NOCTa4aHHA. AKILLO OGMENEHa FapaHTIA He BXOAMTS A0

KOMNAEKTY NocTauakHs, i MOXHa 3HalTH Ha seBcaiiTi ViewSonic.

Mg 4ac niaKAioueHKA AUCIER A0 30BHILIHBOTO NPUCTROI (MK TOWO), BUKOPHCTOBYIATe BiAEOKaBens | akcecyapw, WO BXOAATL A0 KOMNAEKTY, | AOTPUMYiiTeCH

IHCTPYKLA Y bOMY nOCIBHUKY.

CraHgapT aKcecyapa KuBneHHs Ta BIAEOKAGEAI0, WO BXOAWTL AO KOMNAEKTY, MOXE BIAPISHATUCA 3A/IEXHO B KPaHW, PerioHY 4 cepeaosuusa. W06 oTpumaTk
i sigomocti npo CTOpiHKY BUPOGY Ta NOCIGHMK KopHCTYBaYa.

Lieii MOHITOP MOMHa BUKOPUCTOBYBATH 3 HACTIHHUM KPINAeHHAM 75 MM X 75 MM VESA, cymicHum i3 UL (4 reunti M4 x 8 mm).

i3 Yac BCTAHOBNEHHA AOTPUMYHTEC IHCTPYKUIA 3 MOHTaXY HACTIHHOFO KPINAEHHS, HaBEAGHMX Y NOCIBHMKY KOpHCTYBaYa.

3BepHiTbCA A0 HAWOTO LIEHTDY NIATPUMKM KAIEHTIB Y Pa3i BUHWKHEHHS 3aNMTaHb WOAO BMPOGY.

Komnanis ViewSonic He Hece B/ANOBIAANbHOCTI 32 TEXHI4HI 41 PEAAKLIFHI MOMWAKY 4 YNYLIGHHA B LOMY AOKYMEHTI.

Indonesia

Bergantung pada negara atau wilayah, Garansi Terbatas bisa disertakan atau tidak disertakan dalam kemasan. Jika Garansi Terbatas tidak disertakan dalam kemasan,
maka dapat ditemukan di situs web ViewSoni

Ketika menyambungkan layer ke perangkat eksternal (P, diL), slakan gunakan kabel video dan aksesortyang disrtakan dan fkut petunjuk yang ada dalam buku
petunjuk ini.

Standar aksesori daya dan kabel video yang disertakan mungkin herbeda bergantung negara,
silakan merujuk pada halaman produk dan panduan pengguna kam

Monitor ini bisa digunakan bersama dudukan dinding yang komp:nbel dengan VESA 75 mm x 75 mm yang tertera untuk UL (sekrup 4 M4 x 8mm).
Silakan ikuti panduan pemasangan dudukan di i buku panduan pengguna ketika memasangnya.

Silakan hubung Pusat Dukungan Pelanggan kami sekiranya ada pertanyaan mengenai produk.

Viewsonic tidak bertanggung jawab atas kesalahan teknis atau editorial atau penghilangan yang ada i sini.

yah, atau lingkungan Anda. Untuk rincian item yang disertakan,

Al

sl 5 ViewSOnic ghise o 4e siall iSay o3 sal) 13 U 5o 3 g2l (acall 05 o 13) AL gf ) qoosn 5 gl 203 (350 5 o) i ja 330l clacll (585 5 -

L1 13 b clagladl g 5 Ak yall Clialdly gl ,,.,m_\,s?w»wu.»(m;\ ,u,y&)@hawuu\d,‘,.s .

paiianal sy giiall ks ) £ 51 2 0 ) ualinl) g el o g3 ) sy AB Gala e ity 5 -

usl,‘Js)(‘w,.\l)\!)‘.\))m)ULHV)MNA‘MLJAA)IAU(,‘MM_\\JJJNX»E\;.M)VESAH&\)&“{; 75% s 75 .wmhu\ﬁmﬂ\u&.uuvm,\&_ws“ -

Sl i pakndl s b Balad) e ol AGS S 55 el €141 2 (ne M4 X 8
) gl s3anl) g2 S m e dualsl 2 -
HR 038 A g o1 B s o) Blass ViewSomic S ¥

www.viewsonic.com

www.viewsonic.com/
global/geo/
recycle-programs




Cleaning the LCD Display

« MAKE SURE THE LCD DISPLAY IS TURNED OFF.

+« NEVER SPRAY OR POUR ANY LIQUID DIRECTLY ONTO THE SCREEN OR CASE.
To clean the screen:

1. Wipe the screen with a clean, soft, lint-free cloth. This removes dust and other
particles.

2. If the screen still not clean, apply a small amount of non-ammonia, non-alcohol based
glass cleaner onto a clean, soft, lint-free cloth, and wipe the screen.

To clean the case:

1. Use a soft, dry cloth.

2. If the case still not clean, apply a small amount of a non-ammonia, non-alcohol based,
mild non-abrasive detergent onto a clean, soft, lint-free cloth, then wipe the surface.

YN{EEE LCD 2R
TR LCD BRsE .
- DR R BRI AR AN b
IEI
L. BT R FREN SRS, WEME R AH T,
LERENTR, WD RSN S HARA ST 9. KA FELH b WERARE,
1. FRBHFHREI,
2 SRR AR TSR A BRI ENSET9.RRTEEH  E

o

SER LCD BB

- FE(RRARALCDRE R 28

- )i RSB BAIFELCD BETas bo

EERER

1. FRLP RRNEEMRRERE SRR EEL R M-

2. tzu%f}%zﬂ,s@’ B S RRWEES LE LR A EENIIEE R AR BIREE R

PR
2 m%fﬁ$5ﬂ/a§1’us?'$2«¥ REMBORMET LA EVSFR SR T SBE SEERIEERE AREERE

LCD C|AE0] &

+LCD C|&Eo 0] MO THHEK| HlstMAIR.

« 3}EHO|LE Fo|A0f HAE ZF #2|7Lt RX| OHMAIR
2|":I1 FastH:

. THRED BEPD BE0| UX| ofE MO R S HoMAIR HX|e E|ZBO| MAHAELICH
2 0{T5| Cig{ W WRS 1 R EHD HEO0| UX| phs Mol dZ Lot 43 HEO|
HE REIMHHME o7t MM 3tHE Ho AR
9{|0|"=’é' o} 2{H:

. REED OHE ME ASsHAIR.
2A 03| LT RSt FEHT HE0| YX| ghe Hof| %EL\OH—P e
HEo| gie = HIDtZ M MAME ofzt MM EHE HoMAIR

BETAATLADEFAN

cBBETARATLAOBRNATILB2>TVB I EERRBLTLSLEE L,
CEEFRERT—ACEERGZERATL—LUEY, AFLEYLBEVTIREEV,

BEOSFAN :

1. ERVTRSHL, R<TOHEBVHTEAEZREE T, CNTEIWRTHERYBRS LN TER
Jo

Pulizia di LCD

+ ACCERTARSI CHE LCD SIA SPENTO.

+ NON SPRUZZARE O VERSARE LIQUIDI DIRETTAMENTE SULLO SCHERMO O SULLA SUPERFICIE
ESTERNA DEL MONITOR.

Per pulire lo schermo:

1. Passare sullo schermo un panno pulito, morbido, che non lasci lanugine. In modo da

rimuovere polvere e altre particelle.

2. Selo schermo non & ancora pulito, applicare una piccola quantita di detergente per vetri

non contenente ammoniaca o alcol su un panno pulito, morbido, che non lasci lanugine e pulire lo schermo.
Per pulire la superficie esterna del monitor:

1. Utilizzare un panno morbido e asciutto.

2. Se la superficie non € ancora pulita, applicare una piccola quantita di detergente delicato, non
abrasivo, non contenente ammoniaca o alcol su un panno morbido, asciutto e che non lasci lanugine,
quindi passarlo sulla superficie.

Czyszczenie monitora LCD Display

+ UPEWNIJ SIE, ZE MONITOR JEST WYLACZONY.

+ NIGDY NIE ROZPYLAJ ANI NIE ROZLEWAJ PLYNOW BEZPOSRED NIO NA EKRAN

LUB OBUDOWE, MONITORA.

Aby wyczysci¢ ekran:

1. Przetrzyj ekran czystg, migkkg szmatka nie pozostawiajgca wiokien, usuwajac kurz i inne
Zzanieczyszczenia.

2. Jesli to konieczne, zwilz szmatke niewielkg iloscig $rodka do czyszczenia szkfa nie

zawierajgcego amoniaku ani alkoholu.

Aby wyczysci¢ obudowe:

1. Uzyj miekkiej i suchej szmatki.

2. Jesli potrzebne jest dalsze czyszczenie, dodaj matg ilos¢ nie zawierajgcego amoniaku i
alkoholu, fagodnego nie Zzracego detergentu na czystg, migkka, pozbawiong witdkien
szmatke, a nastepnie wytrzyj nig powierzchnig.

Limpeza do LCD Display
« CERTIFIQUE-SE DE QUE O LCD DISPLAY ESTEJA DESLIGADO.
+ NUNCA USE SPRAY OU DERRAME QUALQUER LiQUIDO DIRETAMENTE NA TELA
OU NO GABINETE.
Para limpar a tela:
1. Passe uma flanela limpa, macia e sem fiapos na tela. Isso remove a poeira e outras particulas.
2. Seisso ndo for suficiente, aplique uma pequena quantidade de um limpavidros que
n&o contenha amoénia ou alcool em uma flanela limpa, macia e sem fiapos e passe na tela.
Para limpar o gabinete:
1. Use uma flanela seca e macia.
2. Seisso ndo for suficiente, aplique uma pequena quantidade de detergente nao
abrasivo, suave e que ndo contenha amoénia ou alcool em uma flanela limpa, macia e
sem fiapos e passe na superficie.

Curatarea monitorului LCD

+ ASIGURATI-VA CA MONITORUL LCD ESTE OPRIT.

+ NU PULVERIZATI SAU TURNATI NICI UN LICHID DIRECT PE ECRAN SAU PE CARCASA.
Pentru curatarea ecranului:

1. $tergeti ecranul cu o carpa curata, moale, fara scame. Aceasta indeparteaza praful

sau alte particule.

2. Daca ecranul este murdar in continuare, aplicati o cantitate mica de agent de curatare
pentru sticla fard amoniac sau alcool pe o carpa curata, moale, fara scame si stergeti ecranul.
Pentru curatarea carcasei:

1. Folositi o carpa moale, uscata.

2. Daca aceasta este murdara in continuare, aplicati o cantitate mica de detergent slab
ne-abraziv, fard amoniac sau alcool, pe o carpa curatd, moale, fara scame, apoi stergeti suprafata.

2. BENAEEFNATVWRSE, PEBO/VTUEZT, /OTLI-AR—ADHZRAYU—F
—EZZRVTRSAKK<STOHBVAICOFTEEERAV T EE L,

MouucTteaHe Ha LCD gucnnes

« MPOBEPETE JANV LCD ONCTINEAT E U3KIOYEH.

« HUKOTA HE MPBCKAMTE U HE U3NVBANTE TEYHOCT OMPEKTHO KbM/HA EKPAHA U
KOPMYCA.

3a na nouncTuTe ekpaHa:

1. U3GbplueTe ekpaHa ¢ 4ncTa, Meka kbpra 6e3 BnacvHku. Tosa Lie OTCTpaHu npaxa v Apyri YacTuLy.
2. AKO ekpaHbT BCe OLLie HE € YUCT, HaHeceTe Marlko KONMYecTBo npenapar 3a

NOYMCTBaHe Ha CTbKMa, KOUTO He € Ha aMOHsIYHa 1 arkoXOrHa OCHOBA, BbpXY YMCTa, Meka Kbpna 6e3
BITACUHKM 1 MOYMCTETE OTHOBO.

3a ga nouncTute Kopnyca:

1. Manonseaite meka, cyxa kbpna.

2. AKO KOpPMyCbT BCe OLLie He € YUCT, HaHeceTe Marko KONNYeCTBO MeK U He abpasnBeH U3mmBall
npenapar, KOUTO He € Ha aMOHSIYHA 1 ankoXOrHa OCHOBA, BbpXY YMCTa, Meka Kbpra 6e3 BNacuHk1 v
noumcTeTe NoBbPXHOCTTA.

Ciséenje LCD zaslona

« UVJERITE SE DA JE ZASLON ISKLJUCEN.

« NIKAD NE PRSKAJTE | NE IZLIJEVAJTE NIKAKVE TEKUCINE PO EKRANU ILI KUCISTU.

Za ciScéenje ekrana:

1. Obrisite ekran ¢istom, mekom krpom koja ne otpusta dlacice. Na taj nacin ¢ete

odstraniti prasinu i ostale Cestice.

2. Ako ekran jo$ uvijek nije Cist, nanesite malu koli¢inu sredstva za ¢i§¢enje stakla koja ne sadrze
amonijak niti alkohol na &istu i meku krpu koja ne otpusta dlacice i njome obrisite ekran.

Za ciscenje kucista:

1. Koristite meku i suhu krpu.

2. Ako kuciste jo$ uvijek nije Cisto, nanesite malu koli¢inu blagoga, neabrazivnog deterdZenta koji ne
sadrze amonijak niti alkohol na ¢istu i meku krpu koja ne otpusta dlacice i njome obriSite povrsinu.

Cisténi monitoru LCD

« PRED CISTENIM MONITOR VYPNETE.

« NIKDY NENANASEJTE ZADNOU TEKUTINU PRIMO NA OBRAZOVKU NEBO PLAST.

Cisténi obrazovky:

1. Otfete obrazovku Eistym, suchym a netfepivym hadfikem. Tim bude odstranén prach a ¢astecky
necistot.

2. Pokud je obrazovka stale znecisténd, naneste na ¢isty, suchy a netfepivy hadfik malé

mnozstvi CistiCe skla bez obsahu Epavku nebo alkoholu ani obrazovku otfete.

Cisténi podstavce:

1. Pouzijte mékky a suchy hadrik.

2. Pokud je podstavec stale znecistén, naneste na cisty, suchy a netfepivy hadfik malé

mnozstvi prostfedku na myti nadobi bez obsahu ¢pavku, alkoholu ani abrazivnich latek a podstavec
otfete.

Reinigung des LCD Display

1. STELLEN SIE SICHER, DASS DER LCD DISPLAY AUSGESCHALTET IST.

2. SPRUHEN ODER GIESSEN SIE NIE FLUSSIGKEIT DIREKT AUF DEN BILDSCHIRM ODER DAS
GEHAUSE.

So reinigen Sie den Bildschirm:

1. Wischen Sie den Bildschirm mit einem sauberen, weichen, fusselfreien Tuch ab.

Dadurch werden Staub und andere Partikel entfernt.

YucTka moHutopa LCD Display

* YBEOWTECH, YTO MOHWTOP LCD DISPLAY BbIKITKOYEH.

« HY B KOEM CITYYAE HE PACTBINANTE U HE BBIIMBANTE HUKAKNX
YKMOKOCTEN HEMOCPEACTBEHHO HA 3KPAH U HA KOPTTYC.

[Ans 4MCTKM IKpaHa:

1. TpoTpuTe 3KpaH YNCTON MSITKOW TKaHblO, HE OCTaBMSIOLLEN BOPCUHOK. 3TO NO3BONUT

yAanuTb Nbinb U Apyrue Yactuubl.

2. Ecnu akpaH Bce elle He0CTaTO4HO YUCTLIN, HAHECUTE Ha YUCTYIO MATKYIO TKaHb, He

0CTaBMALLYI0 BOPCUHOK, HeBOMbLLOe KOMMYEeCTBO CPEACTBA ANA OYUCTKN CTEKNa, He

coaepXxatlero ammuaka unu cnupTta, u NpoTpuUTe ero 3KpaH.

[Ans 4ncTKM Kopnyca:

1. Vcnonb3yinte MArkyto Cyxyto TkaHb.

2. Ecru NOBEPXHOCTbL BCE €elle HeAOoCTaTO4YHO 4YUCTas, HaHeCUTe Ha YNCTYO MATKYHO TKaHb, He

OCTaBMAOLLYI0 BOPCUHOK, He6GonbLUOe KonnyecTBo HeabpasneBHOro

MOIOLLIETO CPe/ICTBa, HE CofiepXalllero ammmaka Unm cnvpTa, U NpoTpuTe et

NOBEPXHOCTb.

Cistenie LCD displeja

« PRESVEDCTE SA, ZE LCD DISPLEJ JE VYPNUTY.

« NA OBRAZOVKU ANI NA SKRINKU PRIAMO NESTRIEKAJTE ANI NELEJTE ZIADNU
_TEKUTINU.

Cistenie obrazovky:

1. Obrazovku utrite Gistou, mékkou, vliakna nepustajicou tkaninou. Tym odstranite prach a
iné malé Castice.

2. Ak obrazovka stéle nie je Cista, pouZite malé mnoZstvo Cistia na okno neobsahujiceho
amoniak ani alkohol, ktory nanesiete na €istt, makkud tkaninu nepustajicu vidkna a
obrazovku fiou utrite.

Cistenie skrinky:

1. Pouzite makku, sucha tkaninu.

2. Ak skrinka stale nie je Cista, pouzite malé mnozstvo Cistiaceho prostriedku bez
brusnych vlastnosti neobsahujiceho amoniak ani alkohol, ktory nanesiete na &istu,
makku tkaninu nepustajlucu vlidkna a povrch skrinky fiou utrite.

Ciséenje LCD zaslona

« PREPRICAJTE SE, DA JE LCD ZASLON IZKLOPLJEN.

« NIKOLI NE SPRICAJTE ALI POLIVAJTE KAKRSNEKOLI TEKOCINE NA EKRAN ALI OHISJE.

Za ciScéenje zaslona:

1. Obrisite zaslon z ¢isto, mehko, nepuhasto krpo. To odstrani prah in ostale delce.

2. Ce zaslon e vedno ni &ist, dodaijte na krpo majhno koli¢ino Eistilca za steklo, ki ne
vsebuje alkohola in amonijaka in ocistite zaslon.

Za ciscenje ohisja:

1. Uporabite mehko in suho krpo.

2. Ce ohi$je $e vedno ni ¢isto, dodajte na krpo majhno koli¢ino neabrazivnega
detergenta, ki ne vsebuje alkohola in amonijaka in nato ocistite povrsino.

Ciséenje LCD ekrana

« UVERITE SE DA JE LCD EKRAN ISKLJUCEN.

« NIKADA NEMOJTE DA PRSKATE EKRAN ILI DA SIPATE TECNOST DIREKTNO NA
EKRAN ILI U KUCISTE.

Da bi o¢istili ekran:

1. Obrisite ekran ¢istom, mekom krpom bez prasine. Ovo uklanja prasinu i druge cestice.
2. Ukoliko ekran i dalje nije ¢ist, primenite malu koli¢inu te¢nosti za ¢iSéenje stakla koja
je bez-amonijaka i bez-alkohola na €istu, meku krpu bez prasine i obriSite ekran.

Da bi o¢istili kuciste:

1. Upotrebite maku, suvu krpu.

2. Ukoliko kuéiste i dalje nije Cisto, primenite malu koli¢inu blagog, nenagrizaju¢eg

deterdZenta koji je bez-amonijaka i bez-alkohola na Cistu, meku krpu bez prasine i potom obrisite povrsinu.

2. Wenn der Bildschirm noch nicht sauber ist, wischen Sie ihn mit einem sauberen,
weichen, fusselfreien Tuch ab, auf das Sie eine kleine Menge eines ammoniakfreien und keinen Alkohol
enthaltenden Glasreinigers gegeben haben.

So reinigen Sie das Gehéause:

1. Benutzen Sie ein weiches, trockenes Tuch.

2. Wenn das Gehause noch nicht sauber ist, wischen Sie es mit einem sauberen,

weichen, fusselfreien Tuch ab, auf das Sie eine kleine Menge eines nicht

scheuernden, ammoniakfreien und keinen Alkohol enthaltenden Reinigungsmittels gegeben haben.

Het LCD-beeldscherm Reinigen

+ ZORG ERVOOR DAT HET LCD-BEELDSCHERM IS UITGESCHAKELD.

« SPUIT OF GIET NOOIT VLOEISTOF RECHTSTREEKS OP HET SCHERM OF DE BEHUIZING.

Het scherm reinigen:

1. Veeg het scherm schoon met een propere, zachte, vezelvrije doek. Hiermee worden stof en andere
deeltjes verwijderd.

2. Als het scherm nog niet schoon is, kunt u een kleine hoeveelheid glasreiniger (niet op

ammoniak of alcohol gebaseerd) aanbrengen op een propere, zachte, vezelvrije doek en het scherm
schoonvegen.

De behuizing reinigen:

1. Gebruik een zachte, droge doek.

2. Als de behuizing nog niet schoon is, kunt u een kleine hoeveelheid niet-schurend schoonmaakproduct
(niet op ammoniak of alcohol gebaseerd) aanbrengen op een propere, zachte, vezelvrije doek en het
oppervlak schoonvegen.

Limpieza del LCD Display

« COMPRUEBE QUE EL LCD DISPLAY ESTA APAGADO.

« NO UTILICE UN PULVERIZADOR NI DERRAME LiQUIDO DIRECTAMENTE EN
NINGUNA PARTE DE LA PANTALLA O EL MONITOR.

Para limpiar la pantalla:

1. Frétela con un pafio limpio, suave y sin pelusas. Asi eliminara el polvo y otras particulas.
2. Sino queda limpio, aplique una pequefa cantidad de limpiacristales sin amoniaco ni
alcohol a un pafio limpio, suave y sin pelusas, y frote con él la pantalla.

Para limpiar el resto del monitor:

1. Utilice un pafio seco y suave.

2. Sino queda limpio, aplique una pequefia cantidad de detergente no abrasivo, sin
amoniaco ni alcohol, a un pafio limpio, suave y sin pelusas, y frote la superficie.

LCD Display-ndyton puhdistus

« VARMISTA, ETTA LCD DISPLAY-NAYTTO ON KYTKETTY POIS PAALTA.

+ ALA KOSKAAN SUIHKUTA TAI KAADA NESTETTA SUORAAN KUVARUUDULLE TAI KOTELOON.
Nayton puhdistus:

1. Pyyhi kuvaruutu puhtaalla, pehmeélld, nukattomalla liinalla. Liina poistaa pélyn ja muut hiukkaset.
2. Jos kuvaruutu ei puhdistu, laita pieni maara ei-ammoniakkipitoista, alkoholitonta
lasinpuhdistusainetta puhtaaseen, pehmeéaan, nukattomaan liinaan ja pyyhi kuvaruutu.

Kotelon puhdistus:

1. Kayta pehmeaa, kuivaa liinaa.

2. Jos kuvaruutu ei puhdistu, laita pieni maara ei-ammoniakkipitoista, alkoholitonta,

hankaamatonta ja mietoa pesuainetta puhtaaseen, pehmeaan ja nukattomaan liinaan ja pyyhi kotelon
pinta.

Nettoyage de I'écran LCD
+ ASSUREZ-VOUS QUE L'ECRAN LCD EST HORS TENSION. } R
+ NE PAS VAPORISER OU NE JAMAIS VERSER DE LIQUIDE SUR L'ECRAN OU LE BOITIER.

Rengoring av LCD Display-skarmen

+ KONTROLLERAATTLCD DISPLAY-SKARMEN AR AVSTANGD.

« HALL ELLER SPRUTA ALDRIG NAGON VATSKA DIREKT PA BILDRUTAN ELLER HOLJET.
Rengoring av bildrutan:

1. Torka av rutan med en ren, mjuk, luddfri trasa. D& avlagsnas damm och andra partiklar.
2. Om rutan inte blir ren fuktar du trasan med fonsterputs som inte innehaller ammoniak
eller alkohol och torkar av rutan.

Rengoring av holjet:

1. Anvand en mjuk, torr trasa.

2. Om holjet inte blir rent fuktar du en ren, mjuk, luddfri trasa med ett milt
rengodringsmedel som inte innehaller ammoniak eller alkohol och torkar av héljet.

LCD Ekraninin Temizligi
+ LCD EKRANININ KAPATILDIGINDAN EMIN OLUNUZ.
+ EKRANA VEYA MAHFAZAYA HERHANGI BIR SIVIYI DOGRUDAN SPREYLEMEYIN
VEYA DOKMEYIN.
Ekrani temizlemek igin:
1. Ekrani temiz, yumusak, havsiz bir bez kullanarak silin. Bu islem tozu ve diger partikiilleri temizler.
2. Eger ekran yine temiz degilse, az miktarda amonyum ve alkol icermeyen cam
temizleme maddesini temiz, yumusak, hav birakmayan beze siiriin ve ekrani silin.
Mahfazayi temizlemek igin:
1. Yumusak, kuru bir bez kullanin.
2. Eger mahfaza yine temiz degilse, temiz, yumusak, hav birakmayan bez iizerine az
miktarda amonyum ve alkol icermeyen ve asindirmayan deterjen siriin ve ardindan yizeyi silin.

YuweHHs PK-gucnnero

+ MEPEKOHAWTECSH, LOPK-ANCMNNEN BUMKHEHO.

+ HIKONMW HE PO3BPW3KYWTE | HE HATIMBATE XOAHY PIOVHY NMPAMO HA EKPAH ABO KOPIMYC.

LLIo6 ouncTUTH eKkpaH:

1. BuTupaiite ekpaH 41CTOIO, M'SIKOK TKaHWHO 6e3 Bopcy. Lle 3HiMae nun TaiHwi YacTouku.

2. SIKWO eKpaH Le He YUCTMIA, HAHECITb Ha YNCTY, M'sIKy raHdvipky 6e3 Bopcy HeBenuky
KiNbKIiCTb PIAVMHM ANS YULLEHHS ckna 6e3 amiaky Taankoronto Ta NpoTpiTb ekpaH.

LLlo6 ouncTUTH KOpRyC:

1. YuCTiTb CyXOH0 M'SIKOIO TKAHUHOIO.

2. 5IKWO KOPMYC LLe He YACTWIA, HAHECITb Ha YUCTY, M’'SIKY raHyipky 6e3 Bopcy HeBenuKy

KinbkicTb Heabpa3uBHOTO po3ynHHMKa 6e3 amiaky Ta anKkoronto i NpoTpiTk Kopnyc.

Al sl G pad) AL Cadals

Al il sl (el 2L St alay e S

Gsinall 5 AL e s 58l s seas Sl (ol W) ot f (5 Y e

SAALE) ki

( sl G e L 31 N 13 (o3 Cum gl Al s s L Aalidy LA praal

LS e e WA 558 o e gl Cilati b Aeainad) il Ao liall lilaiall aal e Stfia 1508 gucad cany Al LD ol 113 2
s LN sy g gl e A5 pe ) eclail) EL) (g Aaled e Jeasl L aY)

(G sieal gl

Al s daels hled daksd a3l 1

e A 558 of e gla ) it b Reasiud) dagal) Leliall claliial) aaf oy Sl |58 amd ey laadas 3 goinal) gl sy o1 13 2
s 3ol s ey iy gl e A5 ae Wl Cadail) (L (e Aalsd e enSIl g L saY) LS 5

RAMESHERET
MRIRERIREE CNS15663 ZRER RAMEA S B ERETNBmAZ A & R
RS-

REME SR IBERETAESE T4k
https://www.viewsonicglobal.com/public/products_download/
safety_compliance/lcd/VS20172_BSMI_RoHS.pdf

Pour nettoyer I’écran :

1. Utilisez un chiffon propre, doux et non pelucheux, afin d’éliminer toute trace de poussiére ou autres
particules.

2. Sinécessaire, appliquez un peu de produit a vitres sans ammoniaque et sans alcool

sur un chiffon propre, doux et non pelucheux, puis essuyez I'écran.

Pour nettoyer la boitier :

1. Utilisez un chiffon doux et sec.

2. Sinécessaire, appliquez un peu de produit détergent doux non abrasif, sans alcool ni
ammoniaque, sur un chiffon propre, doux et non pelucheux, et essuyez la surface.

KaBapiopég Tng LCD 086vng

« BEBAIQOEITE MQX EINAI 2BHXZTH H LCD O©ONH.

* MHN WEKAZETE 'H X' YNETE MNOTE KAMOIO YTPO AMNEYOETAZ MANQ XTHN OGONH H ZTO
MEPIBAHMA.

Na va kaBapicete TNV 006vN:

1. ZKouTrioTe TNV 006VN Ye £va KaBapod, HOAAKO Travi TTou Sev agrivel xvoudia. Auto Ba

aQaIpETEl TN OKOVN Kal T UTTOAOITT CwHATIdIA.

2. Av egakohouBei va pnv gival kaBapr), XPNOIUOTIOIACTE HIa PIKPT TTOTOTNTA KABAPIOTIKOU

TCaIWY TTOU JEV TTEPIEXE! OPHWVIa Kal aAKOOAN o€ éva kaBapd, atraAd Travi TTou Sev agrivel xvoudia Kal
OKOUTTIOTE TNV 086vn.

MNa va kaBapioete To TePiBAnpa:

1. XpnoIUOTIOINOTE éva HAAAKO, OTEYVO TTAVi.

2. Av ggakoAouBei va unv gival kabapr], XpNOIUOTIOIACTE pia HIKPH TTOGOTNTA aTTaAOU N

OTIABWTIKOU aTTOPPUTTAVTIKOU TTOU BEV TIEPIEXEI ApPwWVia Kal aAkoOAn o€ éva kabapd, atraAd travi Tou dev
aAPAVEl Xvoudia Kal OKOUTTIOTE TNV ETTIQAVEIQ.

Az LCD-kijelz6 tisztitasa

+ GYOZODJON MEG ARROL, HOGY AZ LCD-KIJELZO KI VAN KAPCSOLVA

+ SOHA NE SPRAY-ZE BE, ES NE CSEPEGTESSEN SEMMILYEN FOLYADEKOT
KOZVETLENUL A KEPERNYORE VAGY A HAZRA.

A képernyé tisztitasahoz:

1. Torolje le a képernyét egy tiszta, puha, sz6szmentes ronggyal. Ez eltavolitja a port és
egyéb részecskéket.

2. Ha még mindig nem tiszta, tegyen egy kis mennyiségli ammoniummentes,
alkoholmentes ablaktisztitét a tiszta, puha, szészmentes rongyra, és térélje le a képernyét.
A haz tisztitasahoz:

1. Hasznaljon egy puha, szaraz rongyot.

2. Ha még mindig nem tiszta, tegyen egy kis mennyiségii ammoéniummentes, enyhe
alkoholmentes, karcoldsmentes mosészert a tiszta, puha, sz6szmentes rongyra, és tordlje le a felliletet.

Membersihkan Layar

« PASTIKAN LAYAR TELAH DIMATIKAN.

+ JANGAN SEMPROTKAN ATAU TUANG CAIRAN APAPUN SECARA LANGSUNG KE

LAYAR ATAU RANGKA.

Untuk membersihkan layar:

1. Bersihkan layar menggunakan kain lembut yang bersih dan bebas serabut agar dapat
menghilangkan debu dan partikel lainnya.

2. Jika layar masih belum bersih, aplikasikan sedikit pembersih kaca yang tidak

mengandung amonia dan alkohol pada kain lembut yang bersih dan bebas serabut, lalu seka layar.
Untuk membersihkan rangka:

1. Gunakan kain lembut yang kering.

2. Jika rangka masih belum bersih, aplikasikan sedikit deterjen lembut yang tidak mengandung amonia
maupun alkohol dan non-abrasif pada kain lembut yang bersih dan bebas serabut, lalu seka
permukaannya.

BFHESTnE EYRARHIERIFAER
AEREEYRNBM NS ERRINTER:
BEEYR
%Bﬁ:%ﬂ? SN | &3 EES A
# (Pb) | & (Hg) | # (Cd) (Crf)/(\l\/l)) ifsﬁé;s ’(55%25
O

©)
O

©)
@)

SR
FEER AR A 14
FRRL/(EhCes
SNBSS ERL
REER
ZF?E%@E?E SJ/T 11364 BIFLE SR,
T EBRSIRAA (S FEEN R BB BRAR e A R BY S SR 14, AN EBPE. BB A
SR RS EIERRE
O RNZEEMREZBEEHI RPN E EII1E GB/T26572 MIE
HIPREZERIA T,
X RNZBEVMREVEZEBGNESIRME RN S EEBH
GB/T26572 FIEMREE K,

x| x| x|x|O
T O|O]O|0|O
Ol0|0|010
O|O|0|O|O
OlO|0|010

<EFBSBFTmEKRRIEEEZGI>>RTIEREA:

AP ABREETRE T mEGE LN, FETFERERFESBF ™R
Bl IBAE KA REM, FH A S BB ESIA T B IR 2 R A
[ B TR IE,

IMR(EFAEARRISLEA
n tEBF S mIERBARTRNER R4 TERE~ @, 2F0
10’ BEYEHTERBUREING, FERIMRIER SR A S
A P& i ™ E R E R EAIR 79105,

X FAE IR (128%5), KR EAE RIF M0 IRIE LA B MIEE,
ERRY P RER, BIAR R RN REIR (HEIRE BB [E/9120/240VER R 20ABIHEE 250

1R1ERE 10°C-40°C, 32°F-104°F

BRAEIRE 120%-90% RH

BIREE 0-5000K, (MNEKFRABE AR, FLIRAB M)
Model No. V520172 / P/N: VX2759-4K-PRO

Copyright © 2024 ViewSonic Corporation. All rights reserved. VX2759-4K-PRO_QSG_
la_20240411





